(1) Consider the curve
C={(sint,t) e R*| 0 < t < 27},
as well as the following parametrisation of C:

v : (0,2m) — R?, v(t) = (sint, t).

(b) [13 marks| Let C also be given the downward (decreasing y-value) orientation,

and let F be the vector field on R? given by
F(x,y) = (-2, y%).

Compute the following curve integral:

J F - ds.
C
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If you make me try to figure all this out, then | will be very unhappy with you. :(

(You will lose marks for your answer being gibberish.)




OK answer:
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Here, the computations are very well done, but much of the explanations
around them are missing. (You will'Tose a few marks for this.)
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This is similar to the previous answer, except it also shows the reasoning
for how the curve integral is converted to a calculus integral.

I fon't have: : | I . .

have to show understanding of every step in the process.




